8

80
25

0
7

=
TP hits

TP layers

20

6
TP pixel layers

60

o

50

15

10

10 20 30 40

18 20

16
TP 3D layers

6 8 10 12 14

4

[N of associated tracks (simToReco) vs hit ]

[N of associated tracks (simToReco) vs pixel layer ]

[N of associated tracks (simToReco) vs 3D layer |

& 10?

25

o
—

Sd1 Pa1onisu0dIay

0.

TP hits

Mew-1owp

Wdefault_specPLess4
7

NEWdefault_specPLess3
1]

NEWdefault_specPLess1
mKFit_XiMinusNOPU_NE!

—— DQM_mKFit_XiMinusNOPU_NEWdefault_specPLess2
20
TP layers
6

TP pixel layers

5

TMInUS|
15

4

mkFit_XiMinusNOPU
10

mkFit_XiMinusNOPU

|

10 20 30 40 50 60 70 80

—— DQM
—— DQM

—

N of simulated tracks vs hit

-0

[N of simulated tracks vs pixel layer ]

[[N of simulated tracks vs 3D layer ]

[N of sim] — bom

0 2 4 6 8 10 12 14 16 18 20

0 <
o o
] -

sajomedbunioel |

0.

2

0

TP 3D layers



	Contents
	Page 1


